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Syntagmatic
compositionality



Traditionally, compositionality is a syntagmatic
notion:

a complex expression is compositional if its
content can be deduced from that of its parts
and the manner of their combination.

On this view, a word form is compositional if its
content can be deduced from that of its parts
and the manner of their combination.



Latin laudabant ‘they were praising’



Latin laudabant ‘they were praising’



Latin laudabant ‘they were praising’

— AyAx[praise’(x, y)]



Latin laudabant ‘they were praising’

-ba — AyAx[Imperfect("[praise’(x, y)])]

— AyAx[praise’(x, y)]



Latin laudabant ‘they were praising’

Nt AYAZ,Vx[x € Z, — Imperfect("[praise’(x, y)])]
-ba — AyAx[Imperfect("[praise’(x, y)])]

— AyAx[praise’(x, y)]



BUT: Inflected word forms are not
invariably compositional in the
syntagmatic sense.



DATIVE SINGULAR ABLATIVE SINGULAR
amic-o amic-o
to a friend’ ‘from a friend’



DATIVE SINGULAR
amic-o
to a friend’

dom-ur
‘for a house’

ABLATIVE SINGULAR
amic-o
‘from a friend’

dom-0
‘from a house’



Latin capiemus ‘we will be taking’

{1 pl imperfective future indicative}

'

PN

V mus

DN

V e

capl



Latin capiemus ‘we will be taking’

{1 pl imperfective future indicative}

V As an expression of first-person

/\ plural agreement, -mus appears

* in imperfective and perfective,

Vv MUS  « in all three tenses,
/\ * inindicative and subjunctive,
V = * in active and passive .

capl



Latin capiemus ‘we will be taking’

{1 pl imperfective future indicative}

V As an expression of first-person
/\ plural agreement, -mus appears
* in imperfective and perfective,
Vv MUS  « jn all three tenses,
/\ * in indicative and subjunctive,
\V a * in active and passive .

. In the imperfective, -é appears
capi P PP

e in future and preterite,
* in indicative and subjunctive,
* in active and passive.



An alternative:
Paradigmatic compositionality



Paradigm-based approaches to inflectional
morphology afford a different, paradigmatic
conception of compositionality, according to
which a word form is compositional if its
content can be deduced from its position in
the architecture of a lexeme’s paradigm.



On this conception, laudabant is compositional

because it occupies the third-person plural cell in the
imperfect indicative active paradigm of the lexeme

LAUDARE.

Indicative paradigm of Latin LAUDARE ‘praise’

3sg laudatur

laudabatur laudabitur

laudatus est

laudatus erat

laudatus erit

1pl laudamur

2pl laudamini laudabamini laudabimini

laudabamur laudabimur

laudati sumus
laudatr estis

3pl laudantur laudabantur laudabuntur laudati sunt

laudati eramus
laudati eratis

laudati erant

laudati erimus
laudati eritis

Present Imperfect Future Perfect Pluperfect Fut. Perf.
A 1sg laudo laudabam laudabo laudavi laudaveram laudaverd
C 2sg laudas laudabas  laudabis laudavisti laudaveras laudaveris
T 3sg laudat laudabat  laudabit laudavit laudaverat laudaverit
| 1pl laudamus laudabamus laudabimus laudavimus  laudaveramus laudaverimus
v 2pl laudatis  laudabatis laudabitis  laudavistis laudaveratis  laudaveritis
E 3pl laudant laudabant laudabunt  laudavérunt  laudaverant  laudaverint
P 1sg laudor laudabar  laudabor laudatus sum laudatus eram laudatus ero
A 2sg laudaris  laudabaris laudaberis  laudatus es  laudatus eras laudatus eris
S
S
I
Vv
E

laudati erunt




AYAZ, Y x[x € Z, — Imperfect(*[praise(x, y)])]

(LAUDARE, {3 plural imperfect indicative active})



AYAZ.Vx[x € Z, — Imperfect(*[praise (x, y)])]

(LAUDARE, {3 plural imperfect indicative active})



AYAZ,Vx[x € Z, — Imperfect(”[praise’(x, y)])]

(LAUDARE, {3 plural imperfect indicative active})



Even syncretic word forms may be compositional in
this sense: the difference in content between dative
amico and ablative amicé is deducible from the
distinct positions that they occupy in the paradigm of
the lexeme AMIcus.

Declensional paradigm of Latin Amicus ‘friend’

Singular Plural
Nominative amicus amici
Vocative amice amici
Genitive amici amicorum
Dative amico amicis
Accusative amicum amicos

Ablative amico amicis




Mx[friend'(x) & beneficiary'(x, e)] MAx[friend'(x) & source’(x, e)]

(AMICUS, {dative singular}) (AMICUS, {ablative singular})



M ([friend ' (x) & beneficiary ' (x, e)] MAx[friend (x) & source’(x, e)]

(AMICUS, {dative singular}) (AMIcUS, {ablative singular})



Mx[friend'(x) & beneficiary (x, e)] MAx[friend'(x) & source’(x, e)]

(AMICUS, {dative singular}) (AMICUS, {ablative singular})



AVAX[X < we' — Future("[take'(X, y)])]

(CAPERE, {1 pl imperfective future indicative active})



The dual role of cells
in paradigm-based theories
of morphology



In paradigm-based theories of inflection, a
cell determines the semantic interpretation
of the word form that realizes it.



AYAZ .V x[x € Z, — Imperfect(*[praise(x, y)])]

SEMANTIC
INTERPRETATION

(LAUDARE, {3 plural imperfect indicative active})



Besides determining semantic interpretation,
a paradigm cell also determines the
morphological form of the word form that
realizes it.



(LAUDARE, {3 plural imperfect indicative active})



(LAUDARE, {3 plural imperfect indicative active})

|

laudabant



(LAUDARE, {3 plural imperfect indicative active})

|

lauda -ba -nt



(LAUDARE, {3 plural imperfect indicative active})

|

lauda -ba -nt



The cell interface model of the interface
of semantic interpretation
with inflectional morphology:

The cells of a lexeme’s paradigm are the
basis for both the semantic interpretation
and the inflectional realization of its word
forms.



AYAZ, Y x[x € Z, — Imperfect(*[praise (x, y)])]

SEMANTIC
INTERPRETATION
(LAUDARE, {3 plural imperfect indicative active})

MORPHOLOGICAL
REALIZATION

lauda-ba-nt



A problem for
the cell interface model



A problem for
the cell interface model

In some instances, the morphosyntactic
property set that determines a word’s
semantic interpretation is apparently
distinct from the set that determines its
inflectional exponents.



A problem for
the cell interface model

Two examples:
e Latin deponency
e Kashmiri morphomic tense inflection



Imperfective indicative forms of two Latin verbs

MONERE ‘warn’

VERERT ‘fear’

Present Imperfect Future Present Imperfect Future

A 1sg moneo monébam  monébod vereor verébar verébor
c 2sg monés monébas monébis veréris verébaris veréberis
T 3sg monet monébat monébit verétur verébatur verébitur
| 1pl monémus monébamus monébimus  verémur verébamur verébimur

2pl moneétis monébatis  monébitis verémini verébamini verébimini
E 3pl monent monébant  monébunt verentur verébantur verébuntur
P 1sg moneor monébar monébor
A 2sg monéris monébdris monéberis
> 3sg monétur moneéebatur monebitur
T 1pl monémur monébamur monébimur
Vv 2pl monéemini monébamini monébimini
E 3pl monentur monébantur monébuntur




Imperfective indicative forms of two Latin verbs

MONERE ‘warn’

VERERT ‘fear’

Present Imperfect Future Present Imperfect Future

A 1sg moneo monébam  monébod vereor verébar verébor
c 2sg monés monébas monébis veréris verébaris veréberis
T 3sg monet monébat monébit verétur verébatur verébitur
| 1pl monémus monébamus monébimus  verémur verébamur verébimur

2pl moneétis monébatis  monébitis verémini verébamini verébimini
E 3pl monent monébant  monébunt verentur verébantur verébuntur
P 1sg moneor monébar monébor
A 2sg monéris monébdris monéberis
> 3sg monétur monébatur moneébitur
T 1pl monémur monébamur monébimur
Vv 2pl monémini monébamini monébimini
e 3pl monentur monébantur monébuntur




Imperfective indicative forms of two Latin verbs

MONERE ‘warn’

VERERT ‘fear’

Present Imperfect Future Present Imperfect Future

A 1sg moneo monébam  monébod
C 2sg mones moneébas monébis
T 3sg monet monébat monébit
| 1pl monémus monébamus monébimus

2pl moneétis monébatis  monébitis
E 3pl monent ~monébant  monébunt
P 1sg moneor monébar monébor vereor verébar verébor
A 2sg monéris monébdris monéberis veréris verébaris veréberis
> 3sg monétur monébatur monébitur verétur verébatur verébitur
T 1pl monémur monébamur monébimur  verémur verébamur verébimur
Vv 2pl monémini monébamini monébimini  verémini verébamini verébimini
E 3pl monentur monébantur monébuntur verentur verébantur verébuntur




The paradigm linkage model of the
interface of semantic interpretation with
inflectional morphology



The paradigm linkage model of the
interface of semantic interpretation with
inflectional morphology:

A lexeme has two distinct paradigms, one the
basis for the semantic interpretation of its
word forms, the other the basis for their
inflectional realization.



The paradigm linkage model of the
interface of semantic interpretation with
inflectional morphology:

A language’s inflectional morphology must
therefore define:
e its inflectional exponents
* the relation between the two sorts of
paradigm



Two types of paradigm in natural language



Two types of paradigm in natural language

Content a set of content cells, each the

paradigm pairing of a lexeme L with a
morphosyntactic property set with
which L may be associated in
syntax



Two types of paradigm in natural language

Content
paradigm

Form
paradigm

a set of content cells, each the
pairing of a lexeme L with a
morphosyntactic property set with
which L may be associated in
syntax

a set of form cells, each the
pairing of a stem with a
morphosyntactic property set for
which it is inflectable



Content:  (LAUDARE, {3 plural imperfect indicative active})



AYAZ .V x[x € Z, — Imperfect([praise’(x, y)])]

SEMANTIC
INTERPRETATION

Content:  (LAUDARE, {3 plural imperfect indicative active})



Form: (lauda, {3 plural imperfect indicative active})



Form: (lauda, {3 plural imperfect indicative active})

MORPHOLOGICAL
REALIZATION

lauda-ba-nt



AYAZ .V x[x € Z, — Imperfect([praise’(x, y)])]

SEMANTIC
INTERPRETATION

Content:  (LAUDARE, {3 plural imperfect indicative active})

Form: (lauda, {3 plural imperfect indicative active})
MORPHOLOGICAL
REALIZATION

lauda-ba-nt



AYAZ .V x[x € Z, — Imperfect([praise’(x, y)])]

SEMANTIC

INTERPRETATION

Content:  (LAUDARE, {3 plural imperfect indicative active})
PARADIGM

LINKAGE

Form: (lauda, {3 plural imperfect indicative active})
MORPHOLOGICAL

REALIZATION

lauda-ba-nt



(MONERE, {3sg future indic active}) (VERERI, {3sg future indic active})

(MONERE, {3sg future indic passive})

Content cells



AyA[Future("[warn’(x;, y)])]

T

(MONERE, {3sg future indic active}) (VERERI, {3sg future indic active})

Ay;3x[Future("[warn’(x, y,)])]

T

(MONERE, {3sg future indic passive})

Content cells



Ay [Future("[warn'(x;, v)])]

T

(MONERE, {3sg future indic active}) (VERERI, {3sg future indic active})

Ay, 3x[Future("[warn’(x, y,)])]

T

(MONERE, {3sg future indic passive})

Content cells



Ay [Future("[warn'(x;, v)])] AyAx;[Future(™[fear'(xs, v)])]

T T

(MONERE, {3sg future indic active}) (VERERI, {3sg future indic active})

Ay, 3x[Future("[warn’(x, y,)])]

T

(MONERE, {3sg future indic passive})

Content cells



(MONERE, {3sg future indic active})

l

(moné, {3sg future indic active})

l

monébit

Form cells

(MONERE, {3sg future indic passive})

!

{moné, {3sg future indic passive})

l

monebitur

(VERERI, {3sg future indic active})



(MONERE, {3sg future indic active})

l

(moné, {3sg future indic active})

l

monébit

Form cells

(MONERE, {3sg future indic passive})

!

{moné, {3sg future indic passive})

l

monebitur

(VERERI, {3sg future indic active})

Y
(veré, {3sg future indic passive})

l

verebitur



AyA[Future("[warn’(x;, y)])] AyAx[Future(”[fear'(xs, ¥)])]

. A

(MONERE, {3sg future indic active}) (VERERI, {3sg future indic active})

l

(moné, {3sg future indic active})

l

monébit

Ay;3x[Future("[warn’(x, y,)])]

T

(MONERE, {3sg future indic passive})

! |

{moné, {3sg future indic passive}) (veré, {3sg future indic passive})

! !

monebitur verebitur




Kashmiri morphomic tense inflection

In Kashmiri, verbs have three past tenses:
* recent past
* indefinite past
* remote past.



A Kashmiri verb: WUP ‘burn inside’, Conj. Il

Masc Fem
Recent Sg 1 wupus wupUs
past 2  wupukh  wupUkh
3  wupU wupU
Pl. 1 wupl WUpE
2 wuplwa wupewa
3  wupl WUpE
Indefinite Sg 1  wupyos Wupyeyes
past 2  wupyokh wupyéyekh
3  wupyov wupyeye
Pl. 1 wupyéy wupyeye
2  wupyewa wupyeyswa
3  wupyey wupyeye
Remote Sg 1 wupyas WUpYEeyes
past 2  wupyakh wupyéyekh
3  wupyav wupyeye
Pl. 1 wupyay Wupyeye
2  wupyawa wupyeyswa
3  wupyay wupyeye




A Kashmiri verb:

WUP ‘burn inside’, Conj. Il

Masc Fem
Recent Sg 1 wupus wupUs
past 2  wupukh  wupUkh
3  wupU wupU
Pl. 1 wupl WUpE
2 wuplwa wupewa
3  wupl WUPE
Indefinite Sg 1  wupyos Wupyeyes
past 2  wupyokh |wupyéyekh
3  wupyov wupyeye
Pl. 1 wupyéy wupyeye
2  wupyewa |wupyeyswa
3  wupyey wupyeye
Remote Sg 1 wupyas WUpYEeyes
past 2  wupyakh |wupyéyekh
3  wupyav wupyeye
Pl. 1 wupyay Wupyeye
2  wupyawa |wupyeyswa
3  wupyay wupyeye




Two Kashmiri verbs:

WUP ‘burn inside’, Conj. Il

WUPH ‘fly’, Conj. Il

Masc Fem Masc Fem

Recent Sge 1 wupus wupUs wuphyos wuphyéyes
past 2  wupukh wupUkh wuphyokh  wuphyéyekh
3  wupU wupU wuphyov wuphyéye

Pl. 1 wupl WUpE wuphyeéy wuphyéye
2  wuplwa WUpPEWQ wuphyéwa  wuphyéyswa

3  wupl WUpE wuphyeéy wuphyéye

Indefinite Sg 1  wupyos WUpYEyes wuphyas wuphyéyes
past 2  wupyokh wupyéyekh wuphyakh  wuphyéyekh
3  wupyov wWupyeye wuphyav wuphyéye

Pl. 1 wupyéy wupyeye wuphyay wuphyéye
2  wupyéwa wupyeéyewa wuphyawa  wuphyéyswa

3  wupyéy wupyeye wuphyay wuphyéye

Remote Sg 1 wupyads WUpYyeyes wuphiyas wuphiyéyes
past 2  wupyakh wupyéyekh wuphiyakh  wuphiyéyekh
3  wupyav wupyeye wuphiyav wuphiyéye

Pl. 1 wupyay wupyeye wuphiyay wuphiyéye
2  wupyawa wupyeéyewa wuphiyawa wuphiyéysewa

3  wupyay wupyeye wuphiyay wuphiyéye




Two Kashmiri

Conjugation Il

Conjugation Il

conjugations: Masc Fem Masc Fem
Recent Sg 1 -us -Us -y0s -yéyes
past 2 -ukh -Ukh -yokh -yéyekh
3 -U -U -yoVv -yeye
Pl. 1 - -E -yeéy -yeye
2 -lwa -EwWa -yewa -yeyewa
3 -l -€ -yey -yeye
Indefinite Sg 1 -yos -yeyes -yas -YeyeEs
past 2 -yokh -yéyekh -yakh -yéyekh
3 -yov -yeye -yav -yeye
Pl. 1 -yey -yeye -yay -yeye
2 -yéwa -yeyewa -yawa -yeyewa
3 -yey -yeye -yay -yeye
Remote Sg 1 -yas -yeyes -Iyas -Iyeyes
past 2 -yakh -yéyekh -iyakh -iyéyekh
3 -yav -yeye -fyav -lyeye
Pl. 1 -yay -yeye -iyay -iyeye
2 -yawa -yeyewa -lyawa -lyeyewa
3 -yay -yeye -iyay -fyeye




Two Kashmiri

Conjugation Il

Conjugation Il

conjugations: Masc Fem Masc Fem
Recent Sg 1 -us -Us -y0s -yéyes
past 2 -ukh -Ukh -yokh -yéyekh
3 -U -U -yoVv -yeye
Pl. 1 - -E -yeéy -yeye
2 -lwa -Ewa -yewa -yeyewa
3 -l -€ -yey -yeye
Indefinite Sg 1 -yos -yeyes -yas -YeyeEs
past 2  -yokh -yéyekh -yakh -yéyekh
3 -yov -yeye -yav -yeye
Pl. 1 -yey -yeye -yay -yeye
2 -yéwa -yeyewa -yawa -yeyewa
3 -yey -yeye -yay -yeye
Remote Sg 1 -yas -yeyes -Iyas -Iyeyes
past 2  -yakh -yéyekh -iyakh -iyéyekh
3 -yav -yeye -fyav -lyeye
Pl. 1 -yay -yeye -iyay -iyéye
2 -yawa -yeyewa -lyawa -lyeyewa
3 -yay -yeye -iyay -fyeye




Two Kashmiri

Conjugation Il

Conjugation Il

conjugations: Masc Fem Masc Fem
Recent Sg 1 -us -Us -y0s -yéyes
past 2 -ukh -Ukh -yokh -yéyekh
3 -U -U -yoVv -yeye
Pl. 1 - -E -yeéy -yeye
2 -lwa -Ewa -yewa -yeyewa
3 -l -€ -yey -yeye
Indefinite Sg 1 -yos -yeyes -yas -YeyeEs
past 2  -yokh -yéyekh -yakh -yéyekh
3 -yov -yeye -yav -yeye
Pl. 1 -yey -yeye -yay -yeye
2 -yéwa -yeyewa -yawa -yeyewa
3 -yey -yeye -yay -yeye
Remote Sg 1 -yas -yeyes -Iyas -Iyeyes
past 2  -yakh -yéyekh -iyakh -iyéyekh
3 -yav -yeye -lyav -lyeye
Pl. 1 -yay -yeye -iyay -iyéye
2 -yawa -yeyewa -lyawa -lyeyewa
3 -yay -yeye -lyay -lyeye




Two Kashmiri

Conjugation Il

Conjugation Il

conjugations: Masc Fem Masc Fem
Recent Sg 1 -us -Us -y0s -yéyes
past 2 -ukh -Ukh -yokh -yéyekh
3 -U -U -yoVv -yeye
Pl. 1 - -E -yeéy -yeye
2 -lwa -EwWa -yewa -yeyewa
3 -l -€ -yey -yeye
Indefinite Sg 1 -yos -yeyes -yas -yeyes
past 2  -yokh -yéyekh -yakh -yéyekh
3 -yov -yeye -yav -yeye
Pl. 1 -yey -yeye -yay -yeye
2 -yéwa -yeyewa -yawa -yeyewa
3 -yey -yeye -yay -yeye
Remote Sg 1 -yas -yeyes -Iyas -Iyeyes
past 2  -yakh -yéyekh -iyakh -iyéyekh
3 -yav -yeye -lyav -lyeye
Pl. 1 -yay -yeye -iyay -iyeye
2 -yawa -yeyewa -lyawa -lyeyewa
3 -yay -yeye -lyay -lyeye




From the point of view of content, there are three past tenses
in Kashmiri; but from the point of view of form, there are four.

Conjugation Il
Recent TNS:{past a}

past
Conjugation il

TNS:{past b}

o Conjugation Il
Indefinite
past
Conjugation il
TNS:{past c}
Conjugation Il
Remote
past —— TNS:{past d}
Conjugation lll




From the point of view of content, there are three past tenses
in Kashmiri; but from the point of view of form, there are four.

Conjugation Il
Recent — | Tns:{past a}
past
TNS:{past b
o Conjugation Il > {p }
Indefinite
past
Conjugation Il
Remote

past TNS:{past d}




From the point of view of content, there are three past tenses
in Kashmiri; but from the point of view of form, there are four.

Recent TNS:{past a}

past
Conjugation il \

TNS:{past b}

Indefinite
past : :
Conjugation lll S D
Remote
past —— —> | TNS:{past d}
Conjugation lll




From the point of view of content, there are three past tenses
in Kashmiri; but from the point of view of form, there are four.

Conjugation Il

TNS:{past a}

TNS:{past b}

TNS:{past c}

Recent
past
Conjugation il
o Conjugation Il
Indefinite
past
Conjugation il
Conjugation Il
Remote
past

Conjugation il

TNS:{past d}




The tense properties ‘@, ‘b’, ‘¢’ and ‘d’ are
morphomic (Aronoff 1994). None correlates
exactly with any of the three past-tense
categories of a Kashmiri verb (recent, indefinite
or remote past).

Their function is morphological: each
participates in a uniform pattern of inflectional
realization.



(WUP, {AGR:{3sg masc} TNS:indefPast}) (WUPH, {AGR:{3sg masc} TNs:indefPast})

Content cells

(WUP, {AGR:{3sg masc} TNS:remPast})



Ax [IndefPast("[burn_inside’(x)])]

T

(WUP, {AGR:{3sg masc} TNS:indefPast}) (WUPH, {AGR:{3sg masc} TNs:indefPast})

[3,masc]

AX3 masq[ReMPast("[burn_inside'(x)])]
1 Content cells

(WUP, {AGR:{3sg masc} TNS:remPast})



Ax [IndefPast("[burn_inside’(x)])]

T

(WUP, {AGR:{3sg masc} TNS:indefPast}) (WUPH, {AGR:{3sg masc} TNS:indefPast})

[3,masc]

AX3 masq[ReMPast("[burn_inside'(x)])]
1 Content cells

(WUP, {AGR:{3sg masc} TNS:remPast})



Ax [IndefPast("[burn_inside’(x)])]  Axj3 ..qlIndefPast("[fly’(x)])]

T T

(WUP, {AGR:{3sg masc} TNS:indefPast}) (WUPH, {AGR:{3sg masc} TNS:indefPast})

[3,masc]

AX3 masq[ReMPast("[burn_inside'(x)])]
1 Content cells

(WUP, {AGR:{3sg masc} TNS:remPast})



(WUP, {AGR:{3sg masc} TNS:indefPast}) (WUPH, {AGR:{3sg masc} TNs:indefPast})

(WUP, {AGR:{3sg masc} TNS:remPast})



(WUP, {AGR:{3sg masc} TNS:indefPast})

l

(wup, {AGR:{3sg masc} TNS:b})

l

wupyov

Form cells

(WUP, {AGR:{3sg masc} TNS:remPast})

l

(wup, {AGR:{3sg masc} TNS:c})

l

wupyav

(WUPH, {AGR:{3sg masc} TNs:indefPast})



(WUP, {AGR:{3sg masc} TNS:indefPast}) (WUPH, {AGR:{3sg masc} TNs:indefPast})

l

(wup, {AGR:{3sg masc} TNS:b})

l

wupyov

Form cells

(WUP, {AGR:{3sg masc} TNS:remPast})

l \

(wup, {AGR:{3sg masc} TNS:c}) (wuph, {AGR:{3sg masc} TNS:c})

! !

wupyav wuphyav




AX(3 masgilIndefPast("[burn_inside’ (x)])]  Axj; ..glIndefPast("[fly’(x)])]

T T

(WUP, {AGR:{3sg masc} TNS:indefPast}) (WUPH, {AGR:{3sg masc} TNs:indefPast})

l

(wup, {AGR:{3sg masc} TNS:b})

l

wupyov

AX(3 masc[REM Past("[burn_inside'(x)])]

T

(WUP, {AGR:{3sg masc} TNS:remPast})

l \

(wup, {AGR:{3sg masc} TNS:c}) (wuph, {AGR:{3sg masc} TNS:c})

! !

wupyav wuphyav




In this approach, a language’s inflectional morphology
must fulfill two tasks. It must naturally define the
morphological realization of a form cell’s property set.
But in addition, it must define the principles of
paradigm linkage by which content cells are related to

form cells.



Morphological
realization
rules for
Kashmiri verbs

Block i

i, X [V], 0:{TNS:{past d}} = Xi

Block ii

i, X
i, X
i, X
i, X
i, X
i, X
i, X

V]
\
\
\
\
\
\

, 0:{TNS:{past a} AGR:{sg masc}} > Xu

, 0:{TNS:{past a} AGR:{3 sg masc}} > XU
, 0:{TNS:{past a} AGR:{pl masc}} = X/

, 0:{TNS:{past a} AGR:{sg fem}} > XU

, 0:{TNS:{past a} AGR:{pl fem}} - Xe

, 0:{TNS:{past}} = Xy

, 0:{TNS:{past a}} > X

Block iii

i, X [
i, X [

i, X

i, X [
i, X [

Vv
Vv
\Y
Vv
Vv

], 0:{TNS:{past b} AGR:{masc sg}} - Xo
], 0:{TNS:{past b} AGR:{masc pl}} > Xé
], 0:{TNS:{past} AGR:{masc}} = Xa

], 0:{TNS:{past} AGR:{fem}} - Xeéye

], 0:{TNS:{past a} AGR:{masc/fem}} > X

Block iv

iv, X [V]
iv, X [V]
iv, X [V]
iv, X [V]
iv, X [V]
iv, X [V]

, 0:{AGR:{1 sg}} > Xs

, 0:{AGR:{2 sg}} > Xkh

, 0:{AGR:{2 pl}} > Xwa

, 0:{AGR:{3 sg masc}} - Xv

, 0:{AGR:{3 pl masc}} > Xy

, 0:{TNS:{past a} AGR:{3 sg/pl masc}} > X




| assume that paradigm linkage is best accomplished
through the definition of three kinds of functions:

* a stem function, which maps a content cell onto the
stem form employed in its realization;

e property mappings, which map a content cell’s
morphosyntactic property set onto the property set of
the corresponding form cell; and

* a3 correspondence function, which determines a
content cell’s corresponding form cell by invoking the
appropriate stem function and property mapping.



The Stem function
Stem({WuUP, 0)) = wup [‘burn inside’]

Stem({WUPH, o)) = wuph [fly’]



The Stem function
Stem({WuUP, 0)) = wup [‘burn inside’]

Stem({WUPH, o)) = wuph [fly’]

Inflection classes may be assumed to be classes
of stems rather than classes of lexemes. Thus,
the inflectional difference between wup and
WUPH is an effect of the fact that the stem wup
belongs to the second conjugation and the stem
wuph, to the third.



The property
mappings
pm2, pm3



From the point of view of content, there are three past tenses
in Kashmiri; but from the point of view of form, there are four.

Conjugation Il

TNS:{past a}

TNS:{past b}

TNS:{past c}

Recent
past
Conjugation il
o Conjugation Il
Indefinite
past
Conjugation il
Conjugation Il
Remote
past

Conjugation il

TNS:{past d}




pm2(c:{TNS:{recent}}) = 0:{TNS:{a}}

The oroperty pm2(o:{TNS:{indefinite}}) = o:{TNS:{b}}
pm2(c:{TNS:{remote}}) = o:{TNS:{c}}

mappings
pm2, pm3



The property
mappings
pm2, pm3

pm2(c:{
pm2(c:{
pm2(c:{

pm3(c:{
pm3(o:{

pm3(o:{

'NS:{recent}}) = 0:{TNS:{a}}
'NS:{indefinite}}) = 0:{TNS:{b}}
'NS:{remote}}) = o:{TNS:{c}}

'NS:{recent}}) = 0:{TNS:{b}}
'NS:{indefinite}}) = 0:{TNS:{c}}
'NS:{remote}}) = 0:{TNS:{d}}



pm2(c:{

The property PmM2(o:

. pm2(c:{’

mappings P
pm3(0:

pm2, pm3 pm3(o:{

pm3(o:{

'NS:{recent}}) = 0:{TNS:{a}}
'NS:{indefinite}}) = 0:{TNS:{b}}
'NS:{remote}}) = o:{TNS:{c}}

'NS:{recent}}) = 0:{TNS:{b}}
'NS:{indefinite}}) = 0:{TNS:{c}}
'NS:{remote}}) = 0:{TNS:{d}}

The correspondence function Corr

If Stem({L, o)) belongs to the second conjugation,
Corr((L, 0)) = (Stem((L, o)), pm2(c)).



pm2(c:{

The property PmM2(o:

. pm2(c:{

mappings P
pm3(0:

pm2, pm3 pm3(o:{

pm3(o:{

'NS:{recent}}) = 0:{TNS:{a}}
'NS:{indefinite}}) = 0:{TNS:{b}}
'NS:{remote}}) = o:{TNS:{c}}

'NS:{recent}}) = 0:{TNS:{b}}
'NS:{indefinite}}) = 0:{TNS:{c}}
'NS:{remote}}) = 0:{TNS:{d}}

The correspondence function Corr
If Stem({L, o)) belongs to the second conjugation,
Corr({L, o)) = (Stem({L, o)), pm2(0)).
If Stem({L, o)) belongs to the third conjugation,
Corr({L, o)) = (Stem({L, o)), pm3(0)).



Summary

The cell interface model of the interface of semantics
with inflectional morphology is too restrictive.

Phenomena such as deponency and morphomic tense
inflection show that the properties that determine a
word form’s semantic interpretation need not be those
that determine its inflectional realization.

The paradigm linkage model accommodates this fact
about the morphology /semantic interface.



John left.

Jt[PAST(t) & AT(t, Mleave’(John')])]



John left.

Jt[PAST(t) & AT(t, Mleave’(John')])]
T

Quantificational component



John left.

Jt[PAST(t) & AT(t, Mleave’(John')])]
T

Predicative component



John left.

Jt[PAST(t) & AT(t, Mleave’(John')])]
T

Situative component



John left.

Jt[PAST(t) & AT(t, Mleave’(John')])]
T

Situative component

leave = leave’
left = Ax[PAST(t) & AT(t, Mleave’(x)])]



A paradigm linkage interface
allows various phenomena
to be reconceived



Defectiveness

A content cell may fail to correspond to
a form cell; that is, a content cell {L, o)

may be such that Corr({L, o)) is
undefined.



Syncretism

Two or more cells in the same content
paradigm may share their corresponding
form cell; that is, two content cells {L, o),
(L, T) may be such that

Corr({L, o)) = Corr({L, T)).



(1)

(2)

(3)

(4)

(5)

Homomorphy

. He wears/wore/has worn combat boots.

. He wears/wore/has worn away the grass with all his marching.

. She sticks/stuck/has stuck me in the side with her pen.
. This glue sticks/stuck/has stuck to my fingers.

. He casts/cast/has cast spells on everyone.

. In every film, she casts/cast/has cast you as a small-time hood.

. She draws/drew/has drawn a new picture.

. She draws/drew/has drawn the curtain.

. He sews [soz]/sewed [sod]/has sewn [son] on another patch.

. He will reap what he sows [soz]/sowed [sod]/has sown [son].



Homomorphy

Two or more content paradigms may
correspond to a single form paradigm;
that is, two content cells (L,, 0), {L,, 0)
may be such that

Corr({L,, 6)) = Corr({L,, 0)).



